UHUBs (QAsiletellRL : 8 yUAH U

uLs 15 el cfla sl

sl 1 uwiell eroul YRl 4
(1) situRele(l 23utd ol awa B,

(2) GlULRBIACUL Ay &cll.

(3) cluRRlyeuMl s yeAl cll.

(4) GLElLRRLMI et cuclellefl oslotee sl wicl 8.
Uat 2 ol Aol Yslloll Brl? As-6l clisllui cull. 8

(1) olat0QLell wel seudl.

(2) citlRelell usdal dlF Slal OuLalHL WA B.?
(3) Alsauel Aed g..?

(4) GLULREL SAR WUHAHL vUR]..?

Ugt 3o{lActluslottyalUR B cull. 8

(1) oltrete(l Yuau QA el

(2) slsual A yaed &5l (A (Al cvll,

Ul 4, ([AARL wa Al 5
(1) %A alaR sl YA 51 UMl ot 3 Al Sl RALA U2, ?
(2) i Yool $%1-(Qeauell aotul 3l A wencl asta...?



